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Critical Level and the Limit of 
Detection
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Detection vs. Quantitation 
Levels
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Detection vs. Quantitation 
Levels



YES

NO

I am not sure, so to be safe I’ll say “No”. 

In some cases, being safe means saying “Yes”

Detection vs. Quantitation 
Levels



zero

Currie’s Critical Level

1     2     3     4     5     6     7     8     9    10    11   12   13   14    15

The Critical Level, LThe Critical Level, LC,C, is where the is where the 
detection decision is made.detection decision is made.
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Now what is the LNow what is the LCC for White?for White?

Currie’s Critical Level



zero

Grey Zone
Black Zone
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White Zone

Currie’s Detection Level
Detection Decision Made

LD – Limit of Detection, where F- are 
controlled
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LC
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The calculation takes the standard deviation of 7 spike samples…

Blanks and Spikes

And multiplies by the student’s t for n-1 observations….

* t

1 standard deviation

Lc

Offsets it from zero…
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